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Lösungen zu Kapitel 2, Vektoralgebra, Vektorrechnung

1) a) 3 b) 0 c) 10 d) -10 e) -5

2) a) 45° b) 120° c) 0° d) 180° e) 90°

3) a) 26 b) 2 c) 9 d) 4 e) 3 f) -3 g) 1 h) -3

4) α = 60°

5) a)
r r
v u× b)

r r
v u× c) 2

r r
v u× d) 5

r r
v u× e) 0

6) a) 0 b) 0 c) −
r
v d) 1

7) a) 1 b) 13 c) -11 d) 143

8) a) 12 b) 3

9) 0 0=  q.e.d.

10) a) m = 2 b) für kein m

11) m m= ∨ = ±0 3
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13) a) B = (4,3,-1) b) B = (0,2,0) c) B = (0,0,0)

14) a) A = (-2,7,1) b) A = (-3,6,-4) c) A = (0,0,0)
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b1) 26 b2) 1 b3) 22 b4) -18 b5) 10
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16) AB AC
 →  →

⋅  = 0 wahre Aussage !

17) ABCD ist ein Rechteck: AB BC
 →  →

⊥ ; CD BC
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⊥ ; AD BC
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↑ ↑ ; | | |AB BC
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